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The second test production

e Thanks to Artem, the the send test production using SpdRoot 4.1.6.1 has been successfully finished
in JINR and PNPI.

* Intotal there are 46112 reco files, 4K events per file, ~184.5 million events.

* The first available data (~40 million events) could be quickly processed on Ixui (see next slides), once
we go to 1 billion the centralized data processing may be needed.

* The simu-files will are being removed, the reco-files will be kept until the data production with the
new SpdRoot version will run out of space (persist at least until the end of January).

* The new production based on the SpdRoot development branch will start before the New Year for
three scenarios (1-st stage physics, 2-nd stage DSSD and MAPS).

* Moving to centralized MC-production is an important milestone for us!
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Some statisitcs

Some stats (4000 events per job)
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Some statistics

Some stats (4000 events per job)

Task Task Jobs Jobs - Output
ID type processed successful Start Al Ouiput dataset name dataset size
12:33 December 6, 9:46 December 13, test.2024.MC.27GeV.test-
A || [ | kel | S 2024 2024 minbias.00006.RECO.1.R 605 TB
* Our simulation and reconstruction processes are expensive for both CPUs and
262  simu storage. 83.29 TB
* We can generate more than 100 million events / week.
266  reco * Disk quota limits the amount of the stored data. Revision of the stored 10.19 TB
information for simulation and reconstruction is strongly needed (could
somebody take this responsibility?)
259 simu * Job success ratio depends on both the production infrastructure and SpdRoot 10.92 TB
code. On the SpdRoot side there is still a fraction of jobs entering infinite loop
with Nans appearing in GenFit.
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Running user analysis on the production data

Name Last commit Last update
i+ REAMDE.md README update 1week ago
@ pilot.py Initial commit 1week ago
[ slurm_scr.sh Added commnets 4 days ago

* There is a batch script template at gitlab (modify
it for you needs!):
https://git.jinr.ru/idenisenko/batch_scripts

* Analysis script is of the form
script.C(input_file.root, output_file.root) - [p—
25 ff ============= Check absolute paths here! ===============
* Lightweight jobs run on 40 million events in 24 ;y;';;;—;;;;;;"Musep/l/ld;f;;m;;naz/pm-t-p\; coilonostan) ceseeesessses
hours 2 --container-path=/cvmfs/spd.jinr.ru/images/spdroot-4.1.6.sif \
* 2 --ana-script=/afs/jinr.ru/user/i/iden/slurm/ana/scripts/ana2.C \

° The update ||St Of the production ﬁles iS at 3 --par-file-list=/eos/nica/spd/users/iden/production/test-minbias/par_file list.txt \
3: --files-in-jobh=58 \
/eOS/nica/Spd/UserS/iden/prOdUCﬁOH/teSt- --output-file-dir=/eos/nica/spd/users/iden/production/test-minbias/out2 \
minbias/reco_file_list_full.txt 2

--job-id=${SLURM_ARRAY_TASK_ID}
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9
30 --reco-file-list=/eos/nica/spd/users/iden/production/test-minbias/reco_file_list.txt \
1
2
3



https://git.jinr.ru/idenisenko/batch_scripts

Some tests of the production (momentum resolution)

Momentum resolution as a function of azimuthal angle and momentum (40 million MB events, double
Gaussian variance)
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Some tests of the production (® from photon clusters)
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n° in online calorimetry (figures prepared by Katherin)




Thank you!

18.12.24



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

